Applying Rounding to Estimate (Adding)
Worksheet

Mathematics

Mrs Brinkworth
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Part A
Round these numbers to the nearest 10

65 | 42 | 96 | 80 | 22 | 38 | 12

Challenge -
Which Is the odd one odd??
Why??
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Part B

Use rounding to estimate the answer to these guestions

59+32= |25+41= |64 +2]11= |24 +109= |324 + 108 =|678+ 121 =

would round both
to the nearest ten
and estimate the
calculation as
150 + 30 = 180.

would round both
to the nearest hundred
and estimate the
calculation as

100 + 0 = 100.

| would round 32
to the nearest ten
and estimate the
calculation as
147 + 30 = 177.

Challenge - 147 + 32 =
Look at these ideas.
Decide which Is best
and why
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